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 RESEARCH ASSISTANT IN THE INSTITUTE OF VETERINARY PREVENTIVE 
MEDICINE RANIPET & MANAGER (VETERINARY) IN TAMIL NADU ANIMAL 
HUSBANDRY SERVICE & TAMIL NADU CO-OPERATIVE MILK PRODUCER’S 

FEDERATION LIMITED – 9/12/2023 to 10/12/2023 
 

1. ‘The Asiatic Society’ was changed and renamed as, “The Asiatic Society of Bengal” in 
the year ____. 
a. 1935 A.D.   b. 1936 A.D.    c. 1937 A.D.   
d. 1938 A.D.   e. Answer not known 
“Mrpa r%fk;” vd;gJ “tq;fhs Mrpa r%fk;” vd;W _____ k; Mz;by; ngah; khw;wk; 
nra;ag;gl;lJ. 
a. fp.gp. 1935   b. fp.gp. 1936    c. fp.gp. 1937 
d. fp.gp. 1938   e. tpil njhpatpy;iy 
 

2. Assertion [A]: Gandhiji decided to withdraw the non-cooperation movement. 
Reason [R]:  Various incidents of violence perpetrated by the masses, especially 
    the Chauri-Chaura incident took place in 1922. 
a. [A] is true but [R] is false 
b. [A] is false, [R] is true 
c. Both [A] and [R] are true and [R] is the correct explanation of [A] 
d. Both [A] and [R] are true but [R] is not the correct explanation of [A] 
e. Answer not known 
$w;W [A]: fhe;jp xj;Jioahik ,af;fj;ij jpUk;gngw KbT nra;jhh;. 
fhuzk; [R]: kf;fshy; gy;NtW td;Kiwr; rk;gq;fs; elj;jg;gl;ld Fwpg;ghf 1922-y; 
   nrshp nrsuh rk;gtk; elj;jg;gl;lJ. 
a. [A] rhpahdJ Mdhy; [R] jtW 
b. [A] jtwhdJ> [R] rhpahdJ 
c. [A] kw;Wk; [R] rhpahdit> [R] f;F rhpahd tpsf;fkhFk;. 
d. ,uz;Lk; [A] kw;Wk; [R] rhpahdit Mdhy; [R] $w;W [A] f;F rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 
 

3. Choose the right answer. 
Which one of the following is not Bharathiar’s poem? 
a. Puratchi Kavi   b. Kannan Pattu  c. Kuyil Pattu 
d. Nilavum Vanminum Katrum e. Answer not known 
gpd;tUtdtw;Ws; rhpahd tpilia Njh;e;njLf;f. 
fPo;fhz;gitapy; vJ ghujpahhpd; ftpij ,y;iy? 
a. Gul;rpf; fy;tp   b. fz;zd;ghl;L  c. Fapy; ghl;L 
d. epyTk; thd;kPDk; fhw;Wk; e. tpil njhpatpy;iy 
 

4. Who established the Tamil Newspaper, “Thozhilalan”? 
a. M.C. Raja    b. M. Singaravelar  c. Rettaimalai Srinivasan 
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d. Dr. C. Natesanar   e. Answer not known 
‘njhopyhsd;’ vd;Dk; jkpo;r;nra;jpj;jhis ntspapl;lth; ahh;? 
a. vk;.rp. uh[h   b. k. rpq;fhuNtyh;  c. ,ul;ilkiy rPdpthrd; 
d. lhf;lh;. rp. eNlrdhh;  e. tpil njhpatpy;iy 
 

5. India’s National Anthem “Janagana mana” first sung in 
a. 1911 at INC Bombay Session    b. 1912 at INC Delhi Session 
c. 1911 at INC Calcutta Session    d. 1912 at INC Karachi Session 
e. Answer not known 
,e;jpa Njrpa fPjk; “[dfd kd” Kjd; Kjyhfg; ghlg;gl;lJ 
a. 1911k; Mz;L gk;ghapy; eilngw;w ,e;jpa Njrpa fhq;fpu]; khehl;by; 
b. 1912k; Mz;L nly;ypapy; ele;j ,e;jpa Njrpa fhq;fpu]; khehl;by;  
c. 1911k; Mz;L fy;fj;jhtpy; ele;j ,e;jpa Njrpa fhq;fpu]; khehl;by; 
d. 1912k; Mz;L fhuhr;rpapy; ele;j ,e;jpa Njrpa fhq;fpu]; khehl;by; 
e. tpil njhpatpy;iy 
 

6. The first Fort constructed by the British in India was 
a. Fort. St. William   b. Fort St. George  c. Agra Fort 
d. Fort St. David   e. Answer not known 
,e;jpahtpy; Mq;fpNyah;fs; fl;ba Kjy; Nfhl;il 
a. nrapd;l; tpy;ypak; Nfhl;il    b. nrapd;l; [hh;[; Nfhl;il 
c. Mf;uh Nfhl;il      d. nrapd;l; Nltpl; Nfhl;il 
e. tpil njhpatpy;iy 
 

7. Arrange the following events in chronological order 
(I) Cripps Mission 
(II) Dandi March 
(III) Gandhi Irwin Pact 
(IV) First Round Table Conference 
a. II, III, IV I    b. II, IV, III, I   c. I, II, III, IV 
d. III, II, IV, I    e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s epfo;Tfis fhy thpirg;gb vOJf. 
I. fphpg;]; J}Jf;FO 
II. jz;b ahj;jpiu 
III. fhe;jp ,h;tpd; xg;ge;jk; 
IV. Kjy; tl;lNki[ khehL 
a. II, III, IV I    b. II, IV, III, I   c. I, II, III, IV 
d. III, II, IV, I    e. tpil njhpatpy;iy 
 

8. Match the following: 
Book     Lines 
A. Kurinchipattu   1. 103 
B. Mullaipattu   2. 261 
C. Nedunalvaadai   3. 583 
D. Malaipadukadaam  4. 188 
 A B C D 
a. 4 3 2 1 
b. 3 4 1 2 
c. 2 1 4 3 
d. 1 2 3 4 
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e. Answer not known 
nghUj;jkhd tpiliaj; Njh;T nra;f. 
E}y;     mbfs; 
A. FwpQ;rpg;ghl;L   1. 103 
B. Ky;iyg;ghl;L   2. 261 
C. neLey;thil   3. 583 
D. kiygLflhk;   4. 188 
 A B C D 
a. 4 3 2 1 
b. 3 4 1 2 
c. 2 1 4 3 
d. 1 2 3 4 
e. tpil njhpatpy;iy 
 

9. Who authored the book, 
‘The Tamils-Eighteen Hundred Years ago’? 
a. K.K. Pillai    b. K.S. Srinivasa Pillai c. Kanakasabhai Pillai 
d. Bavanandhan Pillai  e. Answer not known 
Mapuj;J vz;Z}W Mz;LfSf;F Kw;gl;l jkpoh; (The Tamils-Eighteen Hundred Years 
ago) vd;Dk; E}iy vOjpath; ahh;? 
a. Nf.Nf. gps;is      b. Nf.v];. =epth] gps;is 
c. fdfrig; gps;is      d. gthde;jk; gps;is 
e. tpil njhpatpy;iy 
 

10. Match the following: 
List I     List II 
A. Irattaiyarkal   1. Kanthar Anthaadhi 
B. Kachiyappa Munivar  2. Thiruvaanaikka Ula 
C. Kaalamega Pulavar  3. Thillai Kalambagam 
D. ArunakiriNathar   4. Thanigai Puranam 
 A B C D 
a. 1 4 3 2 
b. 3 4 2 1 
c. 3 2 4 1 
d. 2 3 1 4 
e. Answer not known 
nghUj;Jf: 
List I     List II 
A. ,ul;ilah;fs;   1. fe;jh; me;jhjp 
B. fr;rpag;g Kdpth;   2. jpUthidf;fh cyh 
C. fhsNkfg; Gyth;   3. jpy;iyf; fyk;gfk; 
D. mUzfphpehjh;   4. jzpifg; Guhzk; 
 A B C D 
a. 1 4 3 2 
b. 3 4 2 1 
c. 3 2 4 1 
d. 2 3 1 4 
e. tpil njhpatpy;iy 
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11. “One Rupee – Padiarisi Thittam” was implemented in ____ and ____ cities. 
a. Madras and Coimbatore b. Madras and Madurai c. Madras and Tanjore 
d. Madras and Salem  e. Answer not known 
“xU &gha; gbahprp jpl;lk;” eilKiwg;gLj;jg;gl;l efuq;fs; _____ kw;Wk; ____ MFk;. 
a. nrd;id kw;Wk; Nfhak;Gj;J}h;    b. nrd;id kw;Wk; kJiu 
c. nrd;id kw;Wk; jQ;rhT+h;    d. nrd;id kw;Wk; Nryk; 
e. tpil njhpatpy;iy 
 

12. The Maharaja of Travancore issued the Temple Entry proclamation as a result of ____. 
a. Champaron Satyagraha     b. Bardoli Satyagraha 
c. Channar Revolt      d. Vaikom Satyagraha 

e. Answer not known 
,jid njhlh;e;J jpUthq;$h; kfhuh[h jpUthq;$hpy; Nfhapy; EioT gpufldj;ij 
toq;fpdhh;. 
a. rhk;gpuhd; rj;jpah fpufk;     b. gh;Nlhyp rj;jpahfpufk; 
c. rhdh; fyfk;      d. itf;fk; rj;jpahfpufk; 
e. tpil njhpatpy;iy 
 

13. The Third Self Respect Movement conference was held at ____. 
a. Chengalpat   b. Erode   c. Virudunagar 

d. Coimbatore   e. Answer not known 
 %d;whtJ Ra khpahij khehL ____ y; eilngw;wJ. 
 a. nrq;fy;gl;L   b. <NuhL   c. tpUJefh; 

d. Nfhak;Gj;J}h;   e. tpil njhpatpy;iy 
 

14. The first conference of justice party was held at ____. 
a. Coimbatore    b. Kadappai   c. Vijayavada 
d. Tirunelveli    e. Answer not known 
ePjpf;fl;rpapd; Kjy; khehL ____y; eilngw;wJ. 
a. Nfhak;Gj;J}h;   b. flg;ig   c. tp[athlh 
d. jpUney;Ntyp   e. tpil njhpatpy;iy 
 

15. What does the Kural reveals? 
Arulennum Anpeen Kuzhavi Porulennum 
Selvach Cheviliyaal Untu 
a. Mercy – Mother; Love – Infant; Wealth – Bounteous Nurse 
b. Love – Mother; Mercy – Infant; Wealth – Bounteous Nurse 
c. Mercy – Mother; Wealth – Infant; Love – Bounteous Nurse 
d. Love – Mother; Wealth – Infant; Mercy – Bounteous Nurse 
e. Answer not known 
fPo;f;fhZk; Fspd; topahf mwptJ ahJ? 
“mUs; vd;Dk; md;gPd; Fotp nghUs; vd;Dk; 
nry;tr; nrtpypahy; cz;L” 
a. mUs; - jha;; md;G - Foe;ij; nry;tk; - nrtpypj;jha; 
b. md;G - jha;; mUs; - Foe;ij; nry;tk; - nrtpypj;jha 
c. mUs; - jha;; nry;tk; - Foe;ij; md;G - nrtpypj;jha 
d. md;G - jha;; nry;tk; - Foe;ij; mUs; - nrtpypj;jha 
e. tpil njhpatpy;iy 
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16. Under what part does the Thirukkural contains the experience of exploring the 
pleasures and practices of worldly life? 
a. Arathuppal   b. Porutpal   c. Kanmathuppal 
d. Paayirappirivu   e. Answer not known 
cyf tho;f;ifapd; ,ay;GfisAk; eilKiwfisAk; mDgt ntspg;ghLfshff; 
Fwpg;gpLk; jpUf;Fws; gFjp vJ? 
a. mwj;Jg;ghy;   b. nghUl;ghy;  c. fhkj;Jg;ghy; 
d. ghapug;gphpT   e. tpil njhpatpy;iy 
 

17. Who according Valluvar, though a person might be sharp as a sword and intelligent; if 
he does not possess humaneness, he is as good as ____. 
a. Animal (vilangu)   b. Plant (Chedi)  c. Tree (Maram) 

d. Snake (Paambu)   e. Answer not known 
muk;Nghy; $h;ikahd mwpTilatuhf ,Ue;jhYk; kf;fl;gz;gpy;yhjtiuj; jpUts;Stu; 
vjNdhL xg;gpLfpd;whh;? 
a. tpyq;F b. nrb  c. kuk;  d. ghk;G e. tpil njhpatpy;iy 
 

18. “Poruitthal Irappinai enrum _____ 
__________________” 
The above Thirukkural tells us what to do with the mistakes others in life? 
(i) Tolerance of the faults of others 
(ii) Forgetting the mistakes of others 
a. (i) only   b. (ii) only   c. (i) and (ii) 

d. None of the above e. Answer not known 
“nghWj;jy; ,wg;gpid vd;Wk; ______ 
________________________” 
Nkw;fz;l jpUf;Fws;> tho;f;ifapy; gpwh; nra;Ak; jtWfis vd;d nra;Ak; jtWfis 
vd;d nra;a Ntz;Lk; vd;fpwJ? 
a. (i) kl;Lk;    b. (ii) kl;Lk;   c. (i) kw;Wk; (ii) 
d. Nkw;fhZk; vitAk; my;y e. tpil njhpatpy;iy 
 

19. Which is the first children’s magazine published in Tamil? 
a. Bala Vinodhini   b. Gokulam   c. Bala  Deepigai 
d. Ambulimama   e. Answer not known 
jkpopy; Njhd;wpa Kjy; Foe;ij ,jo; vJ? 
a. ghy tpNehjpdp   b. NfhFyk;   c. ghy jPgpif 
e. tpil njhpatpy;iy 
 

20. Who is the protagonist of the epic “Thembaavani”? 
a. Joseph    b. Peter   c. Jesus 
d. Vincent    e. Answer not known 
Njk;ghtdp fhg;gpaj;jpd; ghl;Lilj; jiyth; ,th; 
a. N[hrg;    b. gPl;lh;   c. ,NaR 
d. tpd;nrd;l;    e. tpil njhpatpy;iy 
 

21. Archaeology through literary evidence confirms the presence of a ‘Roman  Factory’ in 
the neighbourhood of Pondicherry during the first century A.D. and where was it 
located? 
a. Arikkamedu   b. Poombuhar  c. Mahabalipuram 
d. Kodumanal   e. Answer not known 
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,yf;fpa rhd;WfSld; njhy;ypay; Jiwahy; cWjp nra;ag;gl;l Kjyhk; E}w;whz;ilr; 
Nrh;e;j ‘Nuhkhdpa njhopw;rhiy’ ghz;br;Nrhpapd; mUfpy; ,Ue;J cWjp nra;ag;gl;lJ. 
mt;tplk; vq;Nf mikag; ngw;Ws;sJ? 
a. mhpf;fNkL    b. G+k;Gfhh;   c. kfhgypGuk; 
d. nfhLkzy;    e. tpil njhpatpy;iy 
 

22. Name the ruler who gave 1,600,000 gold coins to Kadiyalur Rudran Kannanar for his 
poem Pattinapalai? 
a. Cheran Senguttuvan  b. Karikalan   c. Malaiyaman 
d. Nedunjeral Adan   e. Answer not known 
fbaY}h; Uj;jpud; fz;zdhhpd; gl;bdg;ghiy nra;ASf;fhf 1>600>000 nghw;fhRf;fis 
toq;fpa murh; ahh;? 
a. Nrud; nrq;Fl;Ltd;  b. fhpfhyd;   c. kiyakhd; 
d. neLQ;Nruy; Mjd;  e. tpil njhpatpy;iy 
 

23. Tamil Nadu Rice Research Institute (TRRI) is located in _____. 
a. Coimbatore   b. Thanjavur   c. Adutthurai 

d. Nagapattinam   e. Answer not known 
jkpo;ehL ney; Muha;r;rp epWtdk; (TRRI) mike;Js;s ,lk; vJ? 
a. Nfhak;Gj;J}h;   b. jQ;rhT+h;   c. MLJiw 
d. ehfg;gl;bdk;   e. tpil njhpatpy;iy 
 

24. Which article declares that the state shall provide free and compulsory education to all 
children of the age 6 – 14 years? 
a. Article 21    b. Article 14   c. Article 21 A 
d. Article 17    e. Answer not known 
6-14 taJf;Fl;gl;l midj;J Foe;ijfSf;Fk; ,ytr kw;Wk; fl;lhaf; fy;tpia muR 
toq;f Ntz;Lk; vd;W ve;j murpayikg;Gr; rl;lk; (gphpT) mwptpf;fpwJ? 
a. gphpT 21    b. gphpT 14   c. gphpT 21 A 
d. gphpT 17    e. tpil njhpatpy;iy 
 

25. Which article empowers the state to appoint a separate minister for Tribals? 
a. 46  b. 319  c. 164(1) d. 329  e. Answer not known 
ve;j ~uj;J khepyk; jdpahf kiytho; [hjpapdUf;fhf mikr;riu epakpf;f toptif 
nra;fpwJ 
a. 46  b. 319  c. 164(1) d. 329  e. tpil njhpatpy;iy 
 

26. OSCC will facilitate access to following services: 
(i) Emergency Response and Rescue Service. 
(ii) Psycho-social support/counselling. 
(iii) Focus on education of girl children. 
(iv) Differently abled women 
a. (i) only    b. (i) and (iii) only  c. (ii) and (iv) only 
d. (i) and (ii) only   e. Answer not known 
gpd;tUk; ,lh;ghLfSf;fhd mtrufhy Nritfis toq;FfpwJ. 
(i) mtru fhyj;jpw;Nfw;w jftYk;> kPl;G> NritfSk; toq;Fjy; 
(ii) cstpay; - r%f MjuT/MNyhrid toq;Fjy; 
(iii) ngz; Foe;ijfspd; fy;tpapy; ftdk; nrYj;Jjy; 
(iv) khw;Wj;jpwdhsp ngz;fSf;F cjTjy; 
a. (i) kl;Lk;    b. (i) kw;Wk; (iii) kl;Lk; c. (ii) kw;Wk; (iv)kl;Lk; 
d. (i) kw;Wk; (ii) kl;Lk;  e. tpil njhpatpy;iy 
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27. Article 30, of Indian constitution assures the right of minorities to establish ____ of their 

choice. 
a. Political parties     b. Educational institutions  
c. Political organisations    d. Religious association 
e. Answer not known 
,e;jpa murpay; rl;lj;jpd; Kg;gjhk; gphpT> rpWghd;ikapdh;> jq;fs; tpUg;gk;Nghy ____ 
njhlq;Ftjw;fhd chpikia cWjp nra;fpwJ. 
a. murpay; fl;rpfs;   b. fy;tp epWtdq;fs; c. murpay; mikg;Gfs; 
d. rka mikg;Gfs;   e. tpil njhpatpy;iy 

 
28. The following states have achieved the sustainable development goal target in maternal 

mortality rate during 2019-20 are 
(i) Kerala     
(ii) Punjab    
(iii) Himachal Pradesh 
(iv) Tamil Nadu    
a. (i) only    b. (ii) and (iv)  c. (i) and (iv) 
d. (i), (iii) and (iv)   e. Answer not known 
2019-20 Mk; Mz;by;> kfg;NgWfhy ,wg;Gj; jLg;G tpfpjhr;rhuj;jpy;> gpd;tUk; ve;j 
khepyq;fs;> ,yf;if Nehf;fp epiyahd Kd;Ndw;wj;ijg; ngw;Ws;sd? 
(i) Nfush 
(ii) gQ;rhg; 
(iii) `pkhry; gpuNjrk; 
(iv) jkpo;ehL 
a. (i) kl;Lk;    b. (ii) kw;Wk; (iv)  c. (i) kw;Wk; (iv) 
d. (i), (iii) kw;Wk; (iv)   e. tpil njhpatpy;iy 
 

29. The state of Tamil Nadu had only ____ districts at the time of its formation. 
a. 13  b. 23  c. 10  d. 20  e. Answer not known 
jkpo;ehL khepykhf cUthFk; NghJ ____ khtl;lq;fs; kl;LNk ,Ue;jd. 
a. 13  b. 23  c. 10  d. 20  e. tpil njhpatpy;iy 
 

30. The foundation for the Non-Brahmin movement was laid by 
a. E.V. Ramasamy     b. Mahatma Jyothirao Phule 

c. Dr. Ambedkar     d. Veerasalingam Pantulu 
e. Answer not known 
gpuhkzuy;yhj ,af;fj;jpw;F mbj;jskpl;lth; 
a. <.nt.uhkrhkp  b. kfhj;kh N[hjpuht; GNy  c. lhf;lh;. mk;Ngj;fh; 
d. tPurypq;fk; ge;JY e. tpil njhpatpy;iy 
 

31. Vaikom Satyagraha was an agitation to demand 
a. Right to build a temple for non-brahmins 
b. Right to entry of temple for non-brahmins 
c. Right to vote 
d. To oust the Brahmins out of Temple 
e. Answer not known 
itf;fk; rpj;jpahfpufk; vd;gJ vjDilag; Nghuhl;lk;? 
a. gpuhkzh; my;yhjth;fSf;F Nfhtpy; fl;Lk; chpik 
b. gpuhkzh; my;yhjth;fs; NfhtpYf;Fs; Eiotjw;fhd chpik  
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c. thf;F nrYj;Jtjw;fhd chpik 
d. gpuhkzh;fis Nfhtpypy; ,Ue;J ntspNaw;w 
e. tpil njhpatpy;iy 
 

32. In 2020-21 the overall performance of Tamil Nadu in the sustainable development was 
______. 
a. 1 rank b. 2 rank c. 3 rank d. 4 rank e. Answer not known 
2020-21y; epiyahd tsh;r;rpapy; jkpofj;jpd; xl;L nkhj;j nray;jpwd; _____ MFk;. 
a. 1 juk; b. 2 juk; c. 3 juk; d. 4 juk; e. tpil njhpatpy;iy 

 
33. A and B together can do a piece of work in 16 days and A alone can do it in 48 days. 

How long will B take to complete the work? 
a. 12  b. 16  c. 22  d. 24  e. Answer not known 
A kw;Wk; B Mfpa ,UtUk; ,ize;J xU Ntiyia 16 ehl;fspy; Kbg;gh;. A jdpNa 
me;j Ntiyia 48 ehl;fspy; Kbg;ghh; vdpy;> B jdpNa me;j Ntiyia vj;jid 
ehl;fspy; Kbg;ghh;? 
a. 12  b. 16  c. 22  d. 24  e. tpil njhpatpy;iy 
 

34. If LCM of two numbers a and b is c, then what is the GCD (HCF) of a and b? 

a. 
ab

c
  b. 

ac

b
  c.

bc

a
  d. 

c

ab
  e. Answer not known 

vd;w vz;fspd; kP.ngh.k. c vdpy; a kw;Wk; b d; kP.ngh.t. vd;d? 

a. 
ab

c
  b. 

ac

b
  c.

bc

a
  d. 

c

ab
  e. tpil njhpatpy;iy 

 
35. A tank can hold 150 litres of water at present it is only 40% full. How many litres of 

water will fill the tank so that it is 70% full? 
a. 35 l  b. 45 l  c. 50 l  d. 60 l  e. Answer not known 
xU jz;zPh; njhl;bapd; nfhs;ssT 150 ypl;lh;fs; MFk; jw;NghJ mjpy; 40% jz;zPh; 
epuk;gpAs;sJ vdpy; 70% jz;zPh; epiwa ,d;Dk; vj;jid ypl;lh;fs; Njit? 
a. 35 l  b. 45 l  c. 50 l  d. 60 l  e. tpil njhpatpy;iy 
 

36. If P denotes , Q denotes , R denotes +, S denotes -, then what is the value of 18 Q 12 P 
4 R 5 S 6? 
a. 36  b. 53  c. 59  d. 65  e. Answer not known 

P vd;gJ +, Q vd;gJ , R vd;gJ +, S vd;gJ -> vdpy; 18 Q 12 P 4 R 5 S 6 ,d; kjpg;G 
ahJ? 
a. 36  b. 53  c. 59  d. 65  e. tpil njhpatpy;iy 
 

37. Praveen recently got the registration number for his new-two wheeler. Here, the 
number is given in the form of mirror-image. Encode the image and find the correct 
registration number of Praveen’s two-wheeler. 

TN12H2589 

a.   b.   c.  

d.   e. Answer not known 
gputPd; rkPgj;jpy; thq;fpa Gjpa ,U rf;fu thfdj;jpd; gjpT vz;izg; ngw;whh;. ,q;F 
mjd; fz;zhb gpujpgypg;G nfhLf;fg;gl;Ls;sJ. rhpahdg; gjpT vz;zpw;Fhpa fz;zhb 
gpujpgypg;gpidf; fhz;f. 
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a.   b.   c.  

d.   e. tpil njhpatpy;iy 
 

38. A man bought 75 mangoes for Rs. 300 and sold 50 mangoes for Rs. 300. If he sold all the 
mangoes find his profit or loss. 
a. Rs. 150  b. Rs. 250 c. Rs. 100 d. Rs. 50 e. Answer not known 
xUth; &. 300 f;F 75 khk;goq;fs; thq;fp mtw;wpy; 50 khk;goq;fis &. 300 f;F 
tpw;gid nra;jhh;. midj;J khk;goq;fSk; tpw;gidahd gpd; mtuJ ,yhgk; my;yJ 
el;lk; fhz;f. 
a. Rs. 150  b. Rs. 250 c. Rs. 100 d. Rs. 50 e. tpil njhpatpy;iy 
 

39. Find the Altitude of Equilateral triangle whose perimeter is 48cm. 
a. 27.712 cm   b. 10.392 cm   c. 11.312 cm  
d. 13.856 cm   e. Answer not known 
48 nr.kP Rw;wsT nfhz;l xU rkgf;f Kf;Nfhzj;jpd; cauk; fhz;f. 
a. 27.712 nr.kP  b. 10.392 nr.kP  c. 11.312 nr.kP 
d. 13.856 nr.kP  e. tpil njhpatpy;iy 
 

40. A sum invested for 2 years at the rate of 15% p.a. compounded annually will fetches a 
compound interest of Rs. 3,225. Find the sum 
a. Rs. 5,000   b. Rs. 10,000   c. Rs. 20,000 
d. Rs. 25,000   e. Answer not known 
15% $l;L tl;b tPjj;jpy; 2 Mz;Lfspy; xU Fwpg;gpl;l njhiff;F fpilf;Fk; xU tUl 
tl;b &. 3>225 vdpy; itg;Gj;njhif vt;tsT? 
a. &. 5>000   b. &. 10>000   c. &. 20>000 
d. &. 25>000   e. tpil njhpatpy;iy 
 

41. What will be the simple interest earned on an amount of Rs. 16,800 in 9 months at the 
rate of 6¼% per annum? 
a. Rs. 787.50    b. Rs. 812.50   c. Rs. 860.00 
d. Rs. 887.50    e. Answer not known 
Mz;L xd;Wf;F 6¼% tl;b tPjj;jpy; &. 16>800 f;F 9 khjq;fspy; fpilf;Fk; jdptl;b 
ahJ? 
a. &. 787.50    b. &. 812.50   c. &. 860.00 
d. &. 887.50    e. tpil njhpatpy;iy 
 

42. What is the ratio 40 minutes to 1 hour? 
a. 40 : 1 b. 1 : 40 c. 2 : 3  d. 3 : 2  e. Answer not known 
40 epkplj;jpw;Fk; 1 kzp Neuj;jpw;Fk; ,ilNa cs;s tpfpjj;ijf; fhz;f. 
a. 40 : 1 b. 1 : 40 c. 2 : 3  d. 3 : 2  e. tpil njhpatpy;iy 
 

43. The LCM of x3-27, (x-3)2, (x2-9) is 
a. (x-3)2(x+3)(x2+3x+9)    b. (x-3)2(x+3)2(x2+3x+9) 
c. (x-3)2 (x+3)2     d. (x+3)2(x+3x+9) 
e. Answer not known 
x3-27, (x-3)2, (x2-9) ,d; kP.ngh.k. 
a. (x-3)2(x+3)(x2+3x+9)    b. (x-3)2(x+3)2(x2+3x+9) 
c. (x-3)2 (x+3)2     d. (x+3)2(x+3x+9) 
e. tpil njhpatpy;iy 
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44. The LCM of two numbers is 2002 and their HCF is 22. If one of the number is 154, then 

find the other number. 
a. 268  b. 286  c. 278  d. 276  e. Answer not known 
,U vz;fspd; kP.ngh.k. 2002 kw;Wk; mtw;wpd; kP.ngh.fh. 22. 22> Xh; vz; 154 vdpy; 
kw;nwhU vz; vd;d? 
a. 268  b. 286  c. 278  d. 276  e. tpil njhpatpy;iy 
 

45. Find the value of K, if 13 + 23 + 33 + …. +K3 = 4356. 
a. 11  b. 10  c. 12  d. 9  e. Answer not known 
13 + 23 + 33 + …. +K3 = 4356 vdpy;> K-d; kjpg;igf; fhz;f. 
a. 11  b. 10  c. 12  d. 9  e. tpil njhpatpy;iy 
 

46. 
2

3y 3 7y 7

y 3y

− −
  is  

a. 
9y

7
    b. 

3
9y

(21y 21)−
   c. 

2

3

21y 42y 21

3y

− +
 

d. 
2

2

7(y 2y 1)

y

− +
  e. Answer not known 

2

3y 3 7y 7

y 3y

− −
 vd;gJ 

a. 
9y

7
    b. 

3
9y

(21y 21)−
   c. 

2

3

21y 42y 21

3y

− +
 

d. 
2

2

7(y 2y 1)

y

− +
  e. tpil njhpatpy;iy 

 
47. A and B can do a piece of work in 60 days and 75 days respectively. Both begins 

together but after a certain time. A leaves off. In such case, B finishes the remaining 
work in 30 days. After how many days did A leave? 
a. 20  b. 21  c. 24  d. 25  e. Answer not known 
A kw;Wk; B KiwNa 60> 75 ehl;fspy; xU Ntiyia Kbg;gh;. ,UtUk; Nru;e;J Ntiy 
nra;a Muk;gpj;jdh; Mdhy; rpy ehl;fSf;Fg; gpwF A Ntiyia tpl;Lr; nrd;W tpl;lhh;. 
kPjKs;s Ntiyia B> 30 ehl;fspy; Kbj;jhh;. A vj;jid ehl;fspy; Ntiyia tpl;Lr; 
nrd;whh;? 
a. 20  b. 21  c. 24  d. 25  e. tpil njhpatpy;iy 
 

48. The volume of the largest sphere which can be carved out of a cube of side 6 cm is 
a. 113.14 cm3   b. 166 cm3   c. 179.66 cm3 
d. 188.52 cm3   e. Answer not known 
6 nrkP gf;f msTs;s xU fdrJuj;jpy; ,Ue;J ntl;bnaLf;fg;gLk; kpfg;nghpa 
Nfhsj;jpd; fd msT 
a. 113.14 nrkP3  b. 166 nrkP3   c. 179.66 nrkP3 
d. 188.52 nrkP3  e. tpil njhpatpy;iy 
 

49. Find the L.C.M. of 35 a2 c3 b, 42 a3 c b2, 30 a c2 b3 
a. 210 a2 b c   b. 210 a3 c3 b3   c. 210 a c2 b2 
d. 210 a2 c3 b2   e. Answer not known 
kP.ngh.k. fhz;f 35 a2 c3 b, 42 a3 c b2, 30 a c2 b3 
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a. 210 a2 b c   b. 210 a3 c3 b3   c. 210 a c2 b2 
d. 210 a2 c3 b2   e. tpil njhpatpy;iy 
 

50. The unit digit of 4631 is 
a. 6  b. 4  c. 2  d. 8  e. Answer not known 
463 -d; xd;whk; ,yf;fk; 
a. 6  b. 4  c. 2  d. 8  e. tpil njhpatpy;iy 

 
51. The value of a motor cycle 2 years ago was Rs. 70,000. If depreciates at the rate of 4% 

p.a. Find its present value. 
a. Rs. 64,400   b. Rs. 64, 512   c. Rs. 65, 500 
d. Rs. 66, 500   e. Answer not known 
,U rf;fu thfdk; xd;wpd; tpiy 2 Mz;LfSf;F Kd; &. 70>000 Mf ,Ue;jJ. mjd; 
kjpg;G Mz;L NjhWk; 4% tPjk; FiwfpwJ. mjd; jw;Nghija kjpg;igf; fhz;f. 
a. Rs. 64,400   b. Rs. 64, 512   c. Rs. 65, 500 
d. Rs. 66, 500   e. tpil njhpatpy;iy 

 
52. Kumar borrowed Rs. 8,500 from a bank at a particular rate of simple interest. After 3 

years, he pair Rs. 11,050 to settle his debt. At what rate of interest he borrowed the 
money from bank. 
a. 8%  b. 9%  c. 10%  d. 11%   e. Answer not known 
Fkhh; vd;gth; &. 8>500 I xU tq;fpapy; ,Ue;J jdptl;b tPjj;jpy; fldhf thq;fpdhh;. 
%d;W Mz;Lfs; fopj;J &. 11>050 I tq;fpf;F nrYj;jpdhy; mth; fldhf ngw;w 
njhifapd; tl;b tPjk; fhz;f. 
a. 8%  b. 9%  c. 10%  d. 11%  e. tpil njhpatpy;iy 

 
53. The cost of 15 chairs is Rs. 7500. The number of such chairs that can be purchased for 

Rs. 12,000 is 
a. 15  b. 20  c. 24  d. 30  e. Answer not known 
15 ehw;fhypfspd; tpiy &. 7500 ,J Nghd;w &. 12>000 f;F vj;jid ehw;fhypfs; thq;f 
,aYk;? 
a. 15  b. 20  c. 24  d. 30  e. tpil njhpatpy;iy 

 

54. The sum of given two numbers is 45 and their difference is 
1

9
 of their sum. Then the 

LCM of given two numbers is _____. 
a. 100  b. 150  c. 200  d. 50  e. Answer not known 
nfhLf;fg;gl;l ,U vz;fspd; $Ljy; kjpg;G 45 MFk; kw;Wk; ,t;tpU vz;fspd; 

tpj;jpahrkhdJ> $Ljy; kjpg;gpd; 
1

9
 klq;F vdpy;> ,t;tpU vz;fspd; kP.ngh.k. -d; kjpg;G 

a. 100  b. 150  c. 200  d. 50  e. tpil njhpatpy;iy 
 
55. The HCF of two numbers is 36 and their LCM is 432. If one of the number is 108, then 

find the other number. 
a. 132  b. 152  c. 144  d. 126  e. Answer not known 
,U vz;fspd; kP.rp.k. 432 kw;Wk; mtw;wpd; kP.ngh.t. 36> Xh; vz; 108 vdpy; kw;Nwhh; 
vz;iz fhz;f. 
a. 132  b. 152  c. 144  d. 126  e. tpil njhpatpy;iy 

 
56. 12% of 250 litres is the same as x% of 150 litres. Find x 

a. 10%  b. 15%  c. 20%  d. 30%  e. Answer not known 
250 ypl;lhpd; 12% vd;gJ x% ,d; kjpg;G fhz;f. 
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a. 10%  b. 15%  c. 20%  d. 30%  e. tpil njhpatpy;iy 
 
57. Among 120 students of a group, there are 2/5 part of students like mathematics, 3/8 

part of students like science and remaining like social science. Then find the ratio of 
them. 
a. 12 : 9 : 5   b. 4 : 3 : 1   c. 16 : 15 : 19  

d. 8 : 5 : 3   e. Answer not known 
120 khzth;fs; nfhz;l xU FOtpy; 2/5 gq;F khzth;fs; fzpjj;ijAk;> 3/8 gq;F 
khzth;fs; mwptpaiyAk;> kPjp khzth;fs; r%f mwptpay; ghlj;ijAk; tpUk;Gfpwhh;fs; 
vdpy;> mth;fspd; tpfpjhr;rhuk; ahJ? 
a. 12 : 9 : 5   b. 4 : 3 : 1   c. 16 : 15 : 19  

d. 8 : 5 : 3   e. tpil njhpatpy;iy 
 
58. It includes claimed reception of information not gained through the recognized 

physical senses, but sensed with the mind. 
The above definition is Apt for 
a. Brain cognition     b. Extra sensory perception 
c. Super Brain     d. Artificial Intelligence 
e. Answer not known 
mq;fPfhpf;fg;gl;l cly; Gyd;fs; %yk; ngwg;glhj> Mdhy; kdjpdhy; czug;gLk; 
jfty;fspd; chpik Nfhuy; Vw;Gj;jd;ik ,jpy; mlq;Fk; 
NkNy cs;s tiuaiwf;F nghUj;jkhdJ 
a. %is mwpthw;wy;   b. Gyd; czh;TfSf;F mg;ghw;gl;l czh;T 
c. #g;gh; %is    d. nraw;if Ez;zwpT 
e. tpil njhpatpy;iy 

 
59. Essential part of a book is ____ 

a. Knowledge  b. Education   c. Pages 
d. Pictures   e. Answer not known 
xU Gj;jfj;jpd; mj;jpahtrpag; gFjpahdJ 
a. mwpT   b. fy;tp   c. gf;fq;fs; 
d. glq;fs;   e. tpil njhpatpy;iy 

 
60. In order to increase organizational efficiency, the “Rule of Thumb” method should be 

substituted by the methods developed through scientific analysis of work. Rule of 
thumb means decisions taken by manager as per their personal judgements. According 
to Taylor, even a small production can be scientifically planned. This will help in saving 
time as well as human energy. 
Which one of the following is not implied in this passage? 
a. Scientific methods increase organizational efficiency 
b. Saving of time as well as human energy is possible through scientific analysis. 
c. Personal judgement is called “Rule of Thumb” 
d. “Rule of Thumb” method initiated by Taylor increases organizational efficiency 
e. Answer not known 
epWtdj;jpd; Jiz cah;j;Jtjw;fhf “fl;il tpuy; tpjpKiwf;Fg;” gjpyhf mwptpay; 
G+h;t Ntiy gFg;gha;T %yk; tsh;r;rpaile;j Kiwfs; gad;gLj;jg;gl Ntz;Lk;. 
fl;iltpuy; tpjp vd;gJ Nkyhsh; jdJ jdpg;gl;l jPh;g;Gfs; mbg;gilapy; vLf;fg;gLk; 
KbT MFk;. ilyhpd; fUj;Jg;gb> kdpj jpwidAk;> Neuj;ijAk; Nrkpf;f cjTk;. 
gpd;tUtdtw;wpy; vJ ,e;jg; gj;jpapy; Fwpg;gplg;gltpy;iy? 
a. mwptpay; Kiwfs; epWtdr; nray;jpwid mjpfhpf;fpd;wd. 
b. Neuj;ijAk; kdpj Mw;wiyAk; kpr;rg;gLj;JtJ mwptpay; Ma;T %yk; rhj;jpakhFk;. 
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c. jdpg;gl;l jPh;g;G “fl;il tpuy; tpjp” vd;W miof;fg;gLfpd;wJ. 
d. ilyuhy; Njhw;Wtpf;fg;gl;l “fl;il tpuy; tpjp” epWtdr; nray;jpwid mjpfhpf;Fk;. 
e. tpil njhpatpy;iy 

 
61. Which one of the following bacterium involved for food poisoning? 

a. Lactobacillus bulgaricus    b. Bacillus thuringiensis 
c. Rhizobium meliloti    d. Clostridium botulinum 
e. Answer not known 
fPo;fz;ltw;wpy; ve;j xU ghf;Bhpak; czit eQ;rhf;Ftjpy; gq;F ngWfpwJ? 
a. yhf;Nlhngrpy;y];    b. Ngrpy;y]; Jhpd;n[d;rp]; 
c. iuNrh/gpak; nkypNyhl;il   d. fpsh];bhpbak; Nghl;Lypdk; 
e. tpil njhpatpy;iy 

 
62. The environmental laps rate during day time is governed by 

(i) Wind speed 
(ii) Sunlight 
(iii) Topographical features 
(iv) Cloud cover 
a. (i) and (ii) only   b. (ii) and (iii) only  c. (i), (ii) and (iii) only 
d. (i) and (iv) only   e. Answer not known 
gfy; Neuj;jpy; Rw;Wr;Roy; tPo;r;rp tpfpjk; ,tw;wpd; %yk; eph;tfpf;fg;gLfpwJ 
(i) fhw;wpd; Ntfk; 
(ii) #hpa xsp 
(iii) epyg;gug;G mk;rq;fs; 
(iv) KfpYiw 
a. (i) kw;Wk; (ii) kl;Lk;  b. (ii) kw;Wk; (iii) kl;Lk; c. (i), (ii) kw;Wk; (iii) kl;Lk; 
d. (i) kw;Wk; (iv) kl;Lk;  e. tpil njhpatpy;iy 
 

63. This book was written by Isaac Newton during 1685 and 1686 
a. Novum Organum   b. Two chief world systems c. Physica 
d. Principa Mathematica  e. Answer not known 
fPo;f;fz;l E}y; Irf; epA+l;ldhy; 1685 – 1686,y; vOjg;gl;lJ 
a. Nehtk; Mh;fhdk;   b. ^ rPg; Nth;y;L rp];lk;];  c. gprpf;fh 
d. gphpd;rpg;gpah khj;jkhl;bf;fh e. tpil njhpatpy;iy 

 
64. Which of the following is explained by the sentence, “My way is not the only way”? 

(i) Honesty 
(ii) Rationality 
(iii) Open Mindedness 
(iv) Creativity 
a. (i) only    b. (ii) only   c. (iii) only 
d. (iv) only    e. Answer not known 
fPo;tUtdtw;Ws; vJ “vd; top kl;LNk top my;y” vd;w thf;fpaj;jpd; %yk; 
tpsq;fg;gLfpwJ? 
(i) Neh;ik 
(ii) gFj;jwpT 
(iii) jpwe;j kdg;ghd;ik 
(iv) gilg;ghw;wy; 
a. (i) kl;Lk;    b. (ii) kl;Lk;   c. (iii) kl;Lk; 
d. (iv) kl;Lk;    e. tpil njhpatpy;iy 
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65. Hubble’s law is based on 

a. Hooke’s law   b. Gauss law   c. Coulomb’s law 
d. Doppler Effect   e. Answer not known 
`gy; tpjp vjid mbg;gilahff; nfhz;lJ? 
a. `_f; tpjp    b. fh]; tpjp   c. $Yk; tpjp 
d. lhg;sh; - tpisT   e. tpil njhpatpy;iy 

 
66. “The Governor under the constitution has no functions which he can discharge by 

himself” and that he has only “certain duties to perform”. Whose statement is this? 
a. Biswanth Das     b. Rohini Kumar Chaudhri 
c. H.V. Kamath     d. B.R. Ambedkar 
e. Answer not known 
murpay; rhdj;jpd;gb MSeh; jhkhfr; nray;gl KbahJ. MapDk; rpy flikfisj; 
jtpu vd;gij ____ $wpdhh;. 
a. gp];te;j; jh];   b. Nuh`pdpFkhh; nrsj;jphp  c. n`r;.tp. fhkj; 
d. gp.Mh;. mk;Ngj;fh;   e. tpil njhpatpy;iy 

 
67. Consider the following statements and identify the correct ones about political parties. 

1. Political parties create political consciousness among the voters. 
2. Bi party and multi-party systems are necessary for the protection of democracy. 
3. Political parties create cooperation between the executive and legislature. 
a. 1 and 2    b. 2 and 3   c. 1 and 3 
d. 1, 2 and 3    e. Answer not known 
gpd;tUk; fUj;jpay;fisf; fUj;jpy; nfhz;L murpay; fl;rpfisg; gw;wpa 
rhpahdtw;iwf; fz;lwpaTk; 
1. murpay; fl;rpfs; thf;fhsh;fspilNa murpay; tpopg;Gzh;it Vw;gLj;Jfpd;wd. 
2. ,Ufl;rp kw;Wk; gyfl;rp mikg;G Kiw [dehafj;jpd; ghJfhg;gpw;F mtrpak;. 
3. mikr;ruitf;Fk;> rl;lg;Nguitf;Fk; ,ilNa R%fkhd xj;Jiog;ig murpay; 

fl;rpfs; cUthf;Ffpd;wd. 
a. 1 kw;Wk; 2    b. 2 kw;Wk; 3   c. 1 kw;Wk; 3 
d. 1> 2 kw;Wk; 3   e. tpil njhpatpy;iy 

 
68. The noble prize for medicine in 2021 was awarded to _____ 

a. David Julius and Ardem Patapoutian   b. Syukuro and Hasselmann 
 c. Benjamin list and David Mac Millan   d. Abdul Razak and Maria Reza 

e. Answer not known 
kUj;Jtj;Jiwf;fhd 2021k; Mz;bd; Nehgy; ghpR ntd;wth;fs; ahh;? 
a. Nltpl; [_ypa]; kw;Wk; Mh;nlk; ghl;l G+l;bahd; 
b. irA+fpA+Nuh kw;Wk; N`ry;Nkd; 
c. ngQ;rkpd; yp];l; kw;Wk; Nltpl; Nkf;kpyd; 
d. mg;Jy; urhf; kw;Wk; khpah nu]h 
e. tpil njhpatpy;iy 

 
69. Recently, researchers at the Indian Institute of Technology (IIT), Guwahati have 

developed an ultrasound-assisted fermentation method to produce a safe sugar 
substitute from baggare is called _____. 
a. Glucitol    b. Xylol   c. Xylitol 
d. Mannitol    e. Answer not known 
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rkPgj;jpy;> Ft`hj;jpapy; cs;s ,e;jpa njhopy;El;gf; fofj;jpd; (IIb) 
Muha;r;rpahsh;fs; my;l;uhrTz;l; cjtpAldhd nehjpj;jy; Kiwapy; cUthf;fpa 
ghJfhg;ghd rh;f;fiu khw;Wg; nghUs; vJ? 
a. FSrpl;lhy;  b. iryhy;   c. iryplhy; 
d. Nkdpl;lhy;   e. tpil njhpatpy;iy 
 

70. _____ was the first state in India to achieve 100% rural electrification in 1970. 
a. Assam   b. Haryana   c. Uttar Pradesh 
d. Karnataka   e. Answer not known 
1970Mk; Mz;by; 100 rjtpj fpuhkg;Gw kpd;kakhf;fiyg; ngw;w ,e;jpahtpd; Kjy; 
khepyk;  
a. m];]hk;   b. `hpahdh   c. cj;jug; gpuNjrk; 
d. fh;ehlfh   e. tpil njhpatpy;iy 

 
71. Name the type of genome found in Covid 19 virus. 

a. ds DNA   b. ss DNA   c. ss RNA 

d. ds RNA   e. Answer not known 
Nfhtpl;- 19 itu]py; ve;j kuGg;nghUs; cs;sJ 
a. ,U ,io b.vd;.V b. xU ,io b.vd;.V c. xU ,io Mh;.vd;.V 
d. ,U ,io Mh;.vd;.V e. tpil njhpatpy;iy 

 
72. Which Indian state has largest number of biogas plants? 

a. Tamil Nadu  b. Kerala   c. Odisha 
d. Maharashtra  e. Answer not known 
,e;jpahtpd; ve;j khepyj;jpy; mjpf vz;zpf;ifapy; caphpthA cw;gj;jp Miyfs; 
mike;Js;sJ? 
a. jkpo;ehL   b. Nfush   c. xbrh 
d. kfhuh~;buh  e. tpil njhpatpy;iy 
 

73. Primitive form of agriculture in which absence of plough is called _____. 
a. Hoe Farming   b. Dry Farming  c. Wet Farming 
d. Organic Farming  e. Answer not known 
coT ,y;yhj tptrhaj;jpd; goikahd tbtk; vJ? 
a. kz;ntl;b tptrhak; b. cyh; tptrhak;  c. <ukhd tptrhak; 
d. ,aw;if tptrhak; e. tpil njhpatpy;iy 
 

74. Which is the major tree species of tidal forest? 
a. Olive   b. Sundri   c. Pine 
d. Sandal   e. Answer not known 
rJg;G epyf;fhLfspy; fhzg;gLk; Kf;fpa kutif vJ? 
a. Mypt;   b. Re;jhp   c. igd; 
d. re;jdk;   e. tpil njhpatpy;iy 
 

75. Panna district of Madhya Pradesh is famous for which mineral? 
a. Diamond    b. Dolomite   c. Mica 
d. Bauxite   e. Answer not known 
kj;jpag; gpuNjrj;jpd; gd;dh khtl;lk; ve;jf; fdpkj;jpw;Fg; ngah; ngw;wJ? 
a. ituk;   b. Nlhyikl;   c. ikf;fh 
d. ghf;irl;   e. tpil njhpatpy;iy 

 
76. Which is the highest straight gravity dam in India? 
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a. Bhakra dam  b. Hirakud dam  c. Narmada Sagar dam 
d. Tehri dam   e. Answer not known 
,e;jpahtpd; kpf caukhd <h;g;G tpir miz vJ? 
a. gf;uh miz  b. `puhFl; miz  c. eh;kjh rhfh; miz 
d. nj ;̀hp miz  e. tpil njhpatpy;iy 
 

77. Kangra valley is located in ____ Himalayas. 
a. Himadri   b. Himachal   c. Kumaun 
d. Miri   e. Answer not known 
,kakiyapy; fhq;f;uh gs;sj;jhf;F mike;Js;s ,lk; 
d. `pkhj;hp   b. `pkhr;ry;   c. FkhAd; 
d. kphp    e. tpil njhpatpy;iy 
 

78. Choose the right answer: 
Among the Gupta rulers who adopted the title “Maharajadhiraja”? 
a. Sree Gupta   b. Chandra Gupta-I  c. Samudra Gupta 
d. Kumara Gupta  e. Answer not known 
Fg;j murh;fspy; “kfh uh[hjpuh[h” vd;w gl;lg;ngaiu #l;bf;nfhz;lth; ahh;? 
a. = Fg;jh;   b. Kjyhk; re;jpu Fg;jh; c. rKj;jpu Fg;jh; 
d. Fkhu Fg;jh;  e. tpil njhpatpy;iy 
 

79. Religious equality in the Indian Constitution has been provided in _____. 
a. Article 15   b. Article 25   c. Article 26 
d. Article 27   e. Answer not known 
,e;jpa murpayikg;Gr; rl;lj;jpy; kj rkj;Jtk; gphpT _____ ,y; toq;fg;gl;Ls;sJ. 
a. gphpT vz; 15  b. gphpT vz; 25  c. gphpT vz; 26 
d. gphpT vz; 27  e. tpil njhpatpy;iy 
 

80. Which of the following statements about Ram Mohan Roy are True? 
1. He fought against child marriage. 
2. He campaigned against the practice of Sati and succeeded in getting it abolished by 

the British Government. 
3. He opposed the Hindus system of Idolatry and cult. 
4. He fought for the spread of Traditional education through the medium of Sanskrit. 
a. 1, 2, 3, 4   b. 1, 2, 4   c. 1, 2, 3 

d. 2, 3, 4   e. Answer not known 
uhk; Nkhfd; uha; gw;wpa fPo;tUk; $w;Wfspy; vit cz;ikahdit? 
1. Foe;ijj; jpUkzj;jpw;F vjpuhfg; Nghuhbdhh; 
2. cld;fl;ilf;F vjpuhfg; gpur;rhuk; nra;jhh;. NkYk; gphpl;b~; muRld; Nru;e;J mij 

xopg;gjpy; ntw;wp ngw;whh;. 
3. ,e;J kjj;jpy; ,Uf;Fk; cUt topghl;ilAk; topghl;L KiwfisAk; vjph;j;jhh;. 
4. rk];fpUj nkhop %yk; ghuk;ghpa fy;tpiag; gug;g Nghuhbdhh;. 
a. 1, 2, 3, 4   b. 1, 2, 4   c. 1, 2, 3 
d. 2, 3, 4   e. tpil njhpatpy;iy 
 

81. Which writer is credited with having written ‘Milinda-Panha’? 
a. Asvaghosha  b. Nagasena   c. Buddhaghosha  
d. Dhammapala  e. Answer not known 
‘kype;j gd;fh’ it vOjpath; vd;w ngUikf;Fhpath; ahh;? 
a. mRtNfhrh;;  b. ehfNrdh;   c. Gj;jNfhrh; 
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d. jk;kghyh;   e. tpil njhpatpy;iy 
 

82. Pugalur Inscription refers to which dynasty? 
a. Cheras   b. Cholas   c. Pandyas 
d. Pallavas   e. Answer not known 
Gf*h; fy;ntl;L ve;j ,uh[;[paj;Jld; njhlh;GilaJ? 
a. Nruh;fs;   b. Nrhoh;fs;   c. ghz;bah;fs; 
d. gy;yth;fs;   e. tpil njhpatpy;iy 
 

83. Which are the pairs are correctly matched? 
1. Tombo of Itmud – Uddaula  - Nurjahan 
2. Mosque at Sambal   - Babur 
3. Jama Masjid    - Shajahan 
4. Kabuli Bagh Mosque at Panipat - Aurangazeb 
a. 1, 2, 3   b. 1, 2, 4   c. 1 & 2 
d. 1, 2, 3, 4   e. Answer not known 
ve;j ,izfs; rhpahfg; nghUe;Jfpd;wd. 
1. ,j;kj; - cj;njsyh fy;yiw  - E}h;[`hd; 
2. rk;gypYs;s k#jp   - ghgh; 
3. [_k;kh k#jp    - ~h[`hd; 
4. ghdpg;gl;bYs;s fhGypghf; k#jp - xsuq;frPg; 
a. 1, 2, 3   b. 1, 2, 4   c. 1 & 2 
d. 1, 2, 3, 4   e. tpil njhpatpy;iy 
 

84. Assertion [A]: In 1299, Ala-ud-din Khalji decided to capture Malwa and Gujarat 
    and sent a large army under two of his generals. 
Reason [R]: He had strong reasons for this expedition, as not only were these 

areas fertile and populous, but also controlled the Western Sea- 
Ports and Trade-Routes- connecting them with Ganga valley. 

a. Both [A] and [R] are true and [R] explains [A] 
b. Both [A] and [R] are true but [R] does not explain [A] 
c. Only [A] is true 
d. Only [R] is true 
e. Answer not known 
$w;W [A]: 1299 ,y; myhTj;jPd; fpy;[p khy;thitAk;> F[uhj;ijAk; ifg;gw;w jdJ 
   ,uz;L jsgjpfspd; fPo; xU nghpa gilia mDg;g KbT nra;jhh;. 
fhuzk; [R]: ,e;jg; gilnaLg;Gf;F mthplk; tYthd fhuzq;fs; ,Ue;jd. ,e;jg; 
   gFjpfs; tskhditahfTk;> kf;fs; njhif nfhz;litahfTk; 
   ,Ue;jNjhL> Nkw;Ff; fly; JiwKfq;fisf; fl;Lg;ghl;by; itj;J> fq;if 
   rkntspfNshL th;j;jfk; nra;tjw;fhd ,izg;G topfshfTk; ,Ue;jd. 
a. [A] kw;Wk; [R] Mfpa ,uz;Lk; rhp [R] vd;gJ [A] tpw;F rhpahd tpsf;fkhFk;. 
b. [A] kw;Wk; [R] Mfpa ,uz;Lk; rhp> Mdhy; [R] vd;gJ [A] tpw;F rhpahd tpsf;fky;y 
c. [A] kl;LNk rhp 
d. [R] kl;LNk rhp 
e. tpil njhpatpy;iy 
 

85. Assertion [A]: The Indus people did not use coins. 
Reason [R]:  They did not have the technology to make metallic coins 
a. [A] is true but [R] is false 
b. Both [A] and [R] are true and [R] is the correct explanation of [A] 
c. [A] is false but [R] is true 
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d. Both [A] and [R] are true but [R] is not the correct explanation of [A] 
e. Answer not known 
$w;W [A]: rpe;J kf;fs; cNyhf ehzaj;ijg; gad;gLj;jtpy;iy. 
fhuzk; [R]: cNyhf ehzaq;fis cUthf;Fk; njhopy;El;gk; mth;fsplk; ,y;iy. 
a. [A] rhp Mdhy; [R] jtW 
b. [A] kw;Wk; [R] Mfpa ,uz;Lk; rhp kw;Wk; [R] vd;gJ [A] tpw;F rhpahd tpsf;fkhFk;. 
c. [A] jtW Mdhy; [R] rhp 
d. [A] kw;Wk; [R] Mfpa ,uz;Lk; rhp> Mdhy; [R] vd;gJ [A] tpw;F rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 
 

86. The institution of Lokayuktha was established first in  
a. Odisha   b. Maharashtra  c. Rajasthan 
d. Bihar   e. Answer not known 
Kjd; Kjypy; Nyhf; mAf;jh mikg;gpid epWtpaJ 
a. xbrh   b. k`huh~;l;buh  c. uh[];jhd; 
d. gP`hh;   e. tpil njhpatpy;iy 
 

87. “Delegated Legislation” belongs to the realm of 
a. Administrative law  b. Natural law c. Parliamentary legislation 
d. Judicial Pronouncements e. Answer not known 
rl;lkpaw;Wk; mjpfhu xg;gilg;G vd;gJ> ,jd; Ml;rpg;gug;gpw;F cl;gl;ljhFk; 
a. eph;thfr; rl;lk;   b. ,aw;ifr; rl;lk; c. ghuhSkd;wr; rl;lk; 
d. ePjpkd;wj;jPh;g;Giufs;  e. tpil njhpatpy;iy 
 

88. Which of the following is not placed under the Union List? 
1. Corporation Tax 
2. Currency and coinage 
3. Public Debt 
4. Capitation Tax 
a. 1 and 4 only   b. 2 and 4 only  c. 4 only 
d. 3 and 4 only   e. Answer not known 
fPo;tUtdtw;Ws; vJ xd;wpa murpd; gl;baypy; ,lk; ngwtpy;iy? 
1. nghJ kw;Wk; jdpahh; Jiw epWtd thp 
2. gzk; kw;Wk; ehzak; 
3. nghJf; fld; 
4. %yjd thp 
a. 1 kw;Wk; 4 Mfpad kl;Lk;   b. 2 kw;Wk; 4 Mfpad kl;Lk; 

c. 4 kl;Lk;      d. 3 kw;Wk; 4 Mfpad kl;Lk; 
e. tpil njhpatpy;iy 
 

89. Choose the wrong matches: 
1. DDA - Delhi Development Authority 
2. PRI  - Panchayat Raj Institutions 
3. CDP - Community Development Programme 
4. NES  - National Extension Services 
a. 1 and 2 only   b. 2 and 3 only  c. 3 and 4 only 
d. 1 and 4 only   e. Answer not known 
jtwhd ,iziaj; njhpT nra;f. 
1. DDA - jpy;yp tsh;r;rp Kfik 
2. PRI  - gQ;rhaj;J uh[; fUtpfs; 
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3. CDP - r%f Nkk;ghl;Lj; jpl;lk; 
4. NES  - Njrpa tphpthf;fr; Nritfs; 
a. 1 kw;Wk; 2 Mfpad kl;Lk;    b. 2 kw;Wk; 3 Mfpad kl;Lk; 
c. 3 kw;Wk; 4 Mfpad kl;Lk;    d. 1 kw;Wk; 4 Mfpad kl;Lk; 
e. tpil njhpatpy;iy 
 

90. Choose the wrong statements: 
1. President is the head of the Government 
2. Prime Minister is the Real Executive 
3. Proportional Representation is Associated with Priministerial Election. 
4. The executive power of the Union is vested with the president but he is only a 

nominal head. 
a. 1 and 3 only   b. 2 and 3 only  c. 4 and 2 only 
d. 1 and 2 only   e. Answer not known 
gpioahd $w;wpidj; Njh;T nra;f. 
1. FbauRj; jiyth; murhq;fj;jpd; jiytuhthh; 
2. gpujkNu cz;ikahd nrayhl;rpahsh; 
3. tpfpjhr;rhu gpujpepjpj;Jt Kiw gpujkh; Njh;jYld; njhlh;GilaJ. 
4. xd;wpaj;jpd; nrayhl;rp mjpfhuk; FbauRj; jiytUilaJ> vz;zk; mJ 

ngaustpyhdJ 
a. 1 kw;Wk; 3 Mfpad kl;Lk;    b. 2 kw;Wk; 3 Mfpad kl;Lk; 
c. 4 kw;Wk; 2 Mfpad kl;Lk;    d. 1 kw;Wk; 2 Mfpad kl;Lk; 
e. tpil njhpatpy;iy 
 

91. Which of the following is not a directive principle’s of State Policy? 
a.  Securing equal pay for equal work for both men and women 
b. Improving working conditions 
c. Upliftment of SCs/STs 
d. Abolition of untouchability 
e. Answer not known 
fPo;tUtdtw;Ws; vJ muR topfhl;L newpKiwf; Nfhl;ghL my;y 
a. ngz;fs; kw;Wk; Mz;fs; ,UtUf;Fk; rk Ntiyf;Fr; rkkhd Cjpak; toq;fy; 
b. gzpapl trjpfis Nkk;gLj;jy; 
c. ml;ltizg;gLj;jg;gl;l rhjp kw;Wk; goq;Fbapdh;fspd; epiyikia cah;j;Jjy; 
d. jPz;lhikia xopj;jy; 
e. tpil njhpatpy;iy 
 

92. Ways of Acquisition of citizenship 
A. Birth       B. Descent    
C. Registration      D. Naturalisation   
a. (A) and (B) only   b. (B) and (C) only  c. (A), (B) and (C) only 
d. (A), (B), (C) and (D)  e. Answer not known 
FbAhpik ngWk; topfs; 
A. gpwg;G       B. kuG top 
C. gjpT Kiw      D. ,aw;if kakhf;fy; 
a. (A) kw;Wk; (B) kl;Lk;  b. (B) kw;Wk; (C) kl;Lk; c. (A), (B) kw;Wk; (C) kl;Lk; 
d. (A), (B), (C) kw;Wk; (D)  e. tpil njhpatpy;iy 
 

93. Match List I with List II and choose the correct answer from options given below: 
List I    List II 
A. Art. 110   1. All India Services 
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B. Art. 312   2. Equality before law 
C. Art. 280   3. Money bill 
D. Art. 14   4. Finance commission 
 A B C D 
a. 3 1 4 2 
b. 4 2 1 3 
c. 1 2 3 4 
d. 3 2 4 1 
e. Answer not known 
gl;bay; I idg; gl;bay; II cld; nghUj;jpr; rhpahd tpiliaj; Njh;T nra;aTk;. 
gl;bay; I   gl;bay; II 
A. rl;lg;gphpT 110  1. mfpy ,e;jpa gzpfs; 
B. rl;lg;gphpT 312  2. rl;lj;jpd; Kd; rkj;Jtk; 
C. rl;lg;gphpT 280  3. gz kNrhjh 
D. rl;lg;gphpT 14  4. epjp Mizak; 
 A B C D 
a. 3 1 4 2 
b. 4 2 1 3 
c. 1 2 3 4 
d. 3 2 4 1 
e. tpil njhpatpy;iy 
 

94. In Economics the term “Self-reliance” refers to ____ 
a. Self sufficient   b. Self-need   c. Self-support 
d. Socio-Economic ability  e. Answer not known 
nghUshjhuj;jpy; “Ra rhh;G” vd;w nrhy; _____ If; Fwpf;fpwJ. 
a. jd;dpiwT    b. Ra Njit  c. Ra MjuT 
d. r%fg; nghUshjhuj;jpwd; e. tpil njhpatpy;iy 
 

95. Choose the wrong answer 
a. Environmental stabilization and enhancement of forest productivity. 
b. Deforestation and Habitat destruction 
c. Preserving natural forests and wildlife 
d. Conservation of eco systems and their genetic diversity 
e. Answer not known 
jtwhd gjpiyj; Njh;e;njLf;fTk;. 
tdj;Jiwapd; ,yf;F kw;Wk; Nehf;fq;fs; 
a. Rw;Wr;#oy; cWjpg;gLj;jy; kw;Wk; td cw;gj;jpia Nkk;gLj;Jjy; 
b. fhlopg;G kw;Wk; tho;tpl mopT 
c. ,aw;if fhL kw;Wk; td caphpdq;fisg; ghJfhj;jy; 
d. Rw;Wr;#oy; mikg;Gfspd; ghJfhg;G kw;Wk; mtw;wpd; kugZ NtWghL  
e. tpil njhpatpy;iy 
 

96. During the Fifth Five Year Plan (1974-79) the government introduced the slogan of 
“Garibi Hatao”, Mention the meaning of the slogan. 
a. Removal of poverty   b. Move towards self-Reliance 
c. Socialistic pattern of society  d. Generate employment 
e. Answer not known 
Ie;jhtJ Ie;jhz;L jpl;l (1974-79) fhyj;jpy;> “fhpgp `l;Nlh”> vd;w Nfh~k; 
mwpKfg;gLj;jg;gl;lJ. ,jd; nghUisf; Fwpg;gplTk;. 
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a. tWik xopg;G     b. jd;dpiwit Nehf;fp efh;jy; 
c. rkjh;k r%f Kiw    d. Ntiy tha;g;ig cUthf;Fjy; 
e. tpil njhpatpy;iy 
 

97. As per World Bank Guidelines 2017, the extreme poverty line is set at 
a. $ 1.2 per day   b. $ 1 per day   c. $ 1.5 per day 
d. $ 1.90 per day   e. Answer not known 
cyf tq;fp 2017 ntspaPl;bd;gb Vo;ikf; Nfhl;bd; ‘mjPj Vo;ik’ mstPL vd;gJ 
a. $ 1.2 xU ehs;   b. $ 1 xU ehs;  c. $ 1.5 xU ehs; 
d. $ 1.90 xU ehs;   e. tpil njhpatpy;iy 
 

98. The New Industrial Policy 1991 concentrated on: 
(i) Liberalisation 
(ii) Privatisation 
(iii) Globalisation 
a. (i) and (ii)    b. (ii) and (iii)  c. (i) and (iii) 
d. (i), (ii) and (iii)   e. Answer not known 
1991 Mk; Mz;bd; Gjpa njhopy; nfhs;if ,jw;F Kf;fpaj;Jtk; mspj;J tUfpwJ? 
(i) jhuhs kak; 
(ii) jdpahh; kak; 
(iii) cyfkakhjy; 
fPo;fz;l FwpaPl;bypUe;J rhpahd tpilia Njh;e;njLf;fTk;: 
a. (i) kw;Wk; (ii)   b. (ii) kw;Wk; (iii)  c. (i) kw;Wk; (iii) 
d. (i), (ii) kw;Wk; (iii)   e. tpil njhpatpy;iy 
 

99. Which one of the following is not a part of central office departments in Reserve Bank 
of India? 
a. Department of Banking Operations and Development 
b. Department of Currency Management 
c. Department of Recruiting Human Resources 
d. Department of Economic Analysis and Policy 
e. Answer not known 
fPo;fhz;gtw;Ws; vJ ,e;jpa hprh;t; tq;fpapy; kj;jpa mYtyfj; Jiwfspd; xU gFjp 
md;W? 
a. tq;fp nray;ghL kw;Wk; tsh;r;rpj; Jiw 
b. gz Nkyhz;ikj; Jiw 
c. kdpj ts Ms; Nrh;g;Gj;Jiw 
d. nghUshjhu Nfhl;ghL kw;Wk; Ma;Tj; Jiw 
e. tpil njhpatpy;iy 
 

100. Jawaharlal Nehru, the former Prime Minister of India set up the planning commission 
in _____ 
a. 1950 b. 1951 c. 1952  d. 1953 e. Answer not known 
,e;jpahtpd; Kd;dhs; gpujkh; NeU mth;fs; ____ Mz;by; jpl;lf; Foit mikj;jhh;. 
a. 1950 b. 1951 c. 1952  d. 1953 e. tpil njhpatpy;iy 

 
 
 


